[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

[} I’J
<@ o
S =
£ g
2 E
4 [%)
Q j=
E o
= 3
@
LOfrr-demeheeste e et
o +vointim it | i o
. |\w\1\m\\uuu=\wﬂnmmu\e\uuw T —
o il Bl Hiflif «
I e IR
| 1 1l I Il 1l I I [
] HH:\HHH\LHHHH LRI RERRERRE
0.050 HIEEAE . HELLIEE . i 0.95
=25-20 =25-20-15-10 -5 0 5 10 15 20 25
TP dxy PV) (cm TP dxy(PV) (cm)
—=— DQM_mkFit_baseline
—e— DQM_mkFit_baseline6iter
I N of sim| —— DQM_mkFit_TT_RetrainvV2_WP1_6iter_ep3
1] 1J
< a
S =
5 10° 3
2 E
g 2
@ 10 o
= 3
x
10°
10? --de
LOfrdeebemste e et SRREIERE: S
1 1
"HHH’\HH””‘ \HW 0l U”\WEHW\”’\HHUU i il ” '
g il : ke = :
i et il il i : il
AT “H’H\H’ 11— il
T | ||u||uu||n|m=| "
0204 0.8 -1 08—06—040 20£ 0608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
k] E o
8 I =
O S 810
2t H E
] [ 2
@ 10%f---- e [ EERER EREREEE R teeees S 10
= F o
F x
10
10
1 : I
0 h h + o &
R :
04 ! ! . 14
°%¥3 20 -10 0 10 20 30 %53 i0 © 10 20
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} F 2
o o
L =
5 B 10t
2 E
k] 2. 3
I S 10
= 3
i3

1 i
- ] [l
4w 4
:
1 fl L
0.95
-1 -0.5

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


